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202348 #h X Bl A FA E Bk BE B oy Am & (AR (5 /D)
X4y 4 A 5 A 6 A 7 A
<14 —3.4 —5.4 —10.4—20.420.5=< <34 <104=<14 —3.4 —5.4 —10.4—20.420.5= <3.4 <104=<14 —3.4 —5.4 —10.4—20.420.5=< <3.4 <104=<14 —3.4 —5.4 —10.4—20.420.5= <3.4 <10.4
Hu[xX (% %) (% %) (% %) (% %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
GXF - 1100.0 100.0 100.0 | 97.5 2.5 100.0  100.0 |100.0 100.0 100.0 |97.5 1.5 1.0 99.0 100.0
2850 94.3 5.7 100.0 100.0 |100.0 100.0 100.0 |98.0 2.0 100.0 100.0 | 96.5 3.5 100.0 100.0
B 97.8 2.2 100.0 100.0 | 97.7 2.3 100.0 100.0 |1 97.8 2.2 0.0 100.0 100.0 |97.6 1.9 0.5 99.5 100.0
#%ik 100.0 100.0 100.0 97.3 2.7 100.0 100.0 |100.0 100.0  100.0 |100.0 100.0 100.0
Fr il 100.0 100.0 100.0 |100.0 100.0 100.0 1 95.2 4.8 100.0  100.0 |100.0 100.0 100.0
Mg = 98.8 1.2 100.0 100.0 198.6 1.4 100.0 100.0 1 96.1 2.5 1.4 98.6 100.0 195.2 24 1.2 1.2 97.6 100.0
AEHE  100.0 100.0 100.0 98.2 1.8 100.0 100.0 |94.9 3.5 1.6 98.4 100.0 95.5 4.5 100.0 100.0
H & 98.7 1.3 100.0 100.0 | 98.8 1.2 98.8 100.0 |100.0 100.0 100.0 197.6 1.3 1.1 98.9 100.0
+ 98.0 1.8 0.1 0.1 99.8 100.0 |97.3 2.3 0.3 0.1 0.1 99.5 99.9 97.3 2.1 0.4 0.1 0.1 99.4 999 96.6 2.4 0.5 0.4 0.1 99.0 99.9
R[S 97.4 2.2 0.3 0.1 99.6 99.9 195.1 4.4 0.3 0.2 99.5 100.0 196.8 2.5 0.1 0.3 0.3 99.3 99.7 195.2 3.8 0.6 0.4 99.0 100.0
R 98.2 1.7 0.1 99.9 100.0 97.1 2.6 0.3 99.7 100.0 |97.5 2.1 0.3 0.1 0.1 99.6 99.9 946 46 04 04 99.2 100.0
£ 97.5 2.3 0.3 99.7 100.0 197.2 2.1 0.5 0.2 99.3 100.0 197.1 2.4 0.2 0.1 0.1 99.5 99.9 196.8 2.7 0.2 0.2 99.6 100.0
S 97.6 2.4 100.0 100.0 | 98.7 1.3 100.0 100.0 1 98.3 1.4 0.3 99.7 100.0 95.7 2.8 0.3 0.7 0.4 98.6 99.6
A BH 95.9 4.1 100.0 100.0 197.6 2.4 100.0 100.0 1 92.7 6.6 0.7 99.3 99.3 191.3 8.7 100.0 100.0
B 97.8 2.0 0.1 0.1 0.0 99.8 100.0 97.1 2.5 0.2 0.2 0.0 99.6 100.0 97.3 2.2 0.3 0.1 0.1 0.0 99.5 999|959 3.2 04 04 0.1 99.1 99.9
20224 #E45 98.2 1.4 0.2 0.1 0.0 99.6 100.0 |197.6 2.0 0.2 0.1 0.1 99.7 99.9 97.1 2.3 0.3 0.3 0.0 99.4 100.0 196.1 3.0 04 0.4 0.1 0.0 99.1 99.9
20214E %A 97.7 1.9 0.2 0.2 0.0 99.6 100.0 98.2 1.6 0.1 0.1 0.0 99.8 1000 97.5 1.9 0.3 0.2 0.1 0.0 994 99.997.0 23 0.3 0.3 0.0 99.4 100.0
X5y 8 A 9 A 10 A 11 A

<14 —3.4 —5.4 —10.4—20.420.5=< <3.4 <104=<14 —3.4 —5.4 —10.4—20.420.5= <3.4 <104=<14 —3.4 —5.4 —10.4—20.420.5=< <3.4 <104=<14 —3.4 —5.4 —10.4—20.420.5= <3.4 =<10.4
Hu[xX (% %) (% %) (% %) (% %)
% % % % % % % % % % % % % % % %N % % % % % % % % % % % % % % % %
AHF 91.1 6.7 2.2 97.8 100.0 |95.7 4.3 100.0 100.0 | 95.9 4.1 100.0  100.0 |100.0 100.0 100.0
2850 100.0 100.0 100.0 |99.0 1.0 100.0 100.0 |95.3 4.7 100.0 100.0 1 97.9 2.1 100.0 100.0
EJn 95.2 4.1 0.7 0.0 0.0 99.3 100.0 92.8 5.9 1.3 0.0 98.7 100.0 97.4 1.5 1.1 98.9 100.0 |97.0 1.6 0.3 1.1 98.6 100.0
%k 949 5.1 100.0 100.0 | 96.8 3.2 100.0 100.0 |100.0 100.0  100.0 |100.0 100.0 100.0
Fer il 100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0
T 97.6 2.4 0.0 100.0 100.0 | 98.7 1.3 100.0 100.0 |100.0 100.0 100.0 | 98.8 1.2 100.0 100.0
JiIZR7 99.9 0.1 100.0 100.0 98.4 1.6 100.0 100.0 |99.0 1.0 0.0 100.0  100.0 |100.0 100.0 100.0
H & 98.9 1.1 100.0 100.0 96.9 1.3 1.8 98.2 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0
+ 96.0 3.4 04 0.2 0.1 99.3 99.9 96.0 3.2 0.3 0.4 0.1 99.2 999 97.8 1.7 0.3 0.2 99.6 100.0 97.8 2.1 0.1 0.1 99.9 100.0
R[S 95.2 3.7 0.8 0.3 98.9 100.0 193.9 5.6 0.4 0.1 99.5 99.9 196.7 2.6 0.7 99.3 100.0 198.2 1.7 0.1 99.9 100.0
R 945 44 0.8 0.2 0.1 98.9 99.9 95.0 4.6 0.1 0.3 99.6 100.0 |97.0 2.5 0.3 0.2 99.6 100.0 |97.2 2.1 05 0.1 0.0 0.1 99.3 99.9
£ 95.8 3.5 0.4 0.2 0.1 99.3 99.9 95.2 39 0.3 0.3 0.2 99.1 99.8 197.8 1.9 0.1 0.2 99.7 100.0 198.0 1.7 0.2 0.1 99.7 100.0
S 959 2.9 1.0 0.3 98.8 99.7 97.1 2.4 0.5 99.5 100.0 98.1 1.6 0.3 99.7 100.0 96.7 2.4 1.0 99.0 100.0
A BH 91.0 8.0 1.1 98.9 98.9 194.7 4.2 1.1 98.9 100.0 195.3 3.6 1.1 98.9 100.0 192.3 6.8 1.0 99.0 100.0
B 955 3.7 0.6 0.2 0.1 0.0 99.1 99.9 954 4.0 04 0.2 0.1 0.0 994 99.9 975 2.0 0.3 0.2 99.5 100.0 |97.6 2.0 0.3 0.1 0.0 0.0 99.6 100.0
20224 E45 95.7 3.4 0.4 0.4 0.0 99.2 100.0 196.4 3.0 0.3 0.3 0.0 99.4 100.0 1 97.5 2.0 0.3 0.1 0.0 99.5 100.0 |197.5 2.1 0.3 0.1 99.6 100.0
20214E %4 96.8 2.6 0.4 0.2 0.0 0.0 99.4 1000975 1.9 0.3 0.3 0.0 99.4 100.0 97.2 2.2 03 0.4 99.3 100.0 |97.6 2.0 0.2 0.2 0.1 99.5 99.9




20234 M X B & ¥ B B B o & (AR (55 /ml)
A

X4y 12 A 1 2 A 3 A
<14 —3.4 —5.4 —10.4—20.420.5=< <34 <104=<14 —3.4 —5.4 —10.4—20.420.5= <3.4 <104=<14 —3.4 —5.4 —10.4—20.420.5=< <3.4 <104=<14 —3.4 —5.4 —10.4—20.420.5= <3.4 <10.4
Hu[xX (% %) (% %) (% %) (% %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
LFF 1000 0.0 100.0 100.0 | 98.6 1.3 0.0 100.0 100.0 |94.0 6.0 100.0 100.0 |100.0 0.0 100.0  100.0
725 100.0 100.0 100.0 93.6 6.4 100.0 100.0 |100.0 100.0  100.0 |100.0 100.0 100.0
B 95.9 34 0.7 99.3 100.0 95.2 4.1 0.0 0.8 99.2 100.0 95.8 3.3 0.8 99.2 100.0 94.2 2.7 2.0 1.2 96.9 100.0
#%ik 100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0 1100.0 0.0 100.0 100.0
Fr il 100.0 100.0  100.0 |100.0 100.0  100.0 |100.0 100.0  100.0 |100.0 100.0 100.0
T 92.1 7.9 100.0 100.0 | 98.7 1.3 100.0 100.0 | 98.7 1.3 100.0 100.0 |100.0 100.0 100.0
JiIZR7 97.1 2.9 100.0 100.0 | 98.1 1.9 98.1 100.0 '100.0 100.0  100.0 |100.0 100.0 100.0
H & 97.0 3.0 100.0 100.0 98.0 2.0 100.0 100.0 |98.9 1.1 100.0 100.0 | 98.7 1.3 100.0 100.0
+ 97.8 1.8 0.3 0.1 99.6 99.9 96.7 3.0 0.1 0.2 99.7 100.0 |97.7 2.0 0.1 0.1 0.1 99.8 99.9 98,5 1.2 0.1 0.2 99.7 100.0
oS 96.6 3.1 0.3 99.7 100.0 196.3 2.9 0.5 0.1 0.2 99.2 99.8 198.0 1.9 0.2 99.8 100.0 |96.8 2.3 0.6 0.1 0.2 99.1 99.8
R 958 3.8 0.1 0.2 0.1 99.6 99.9 96.0 3.4 0.4 0.1 0.1 99.4 999 96.7 2.6 0.5 0.1 0.1 99.3 99.9 97.8 2.0 0.2 99.8 100.0
WL 98.6 1.0 0.1 0.2 0.0 99.6 100.0 97.0 1.9 0.4 04 0.3 99.0 99.7 197.5 2.0 0.1 0.2 0.1 99.5 99.9 97.5 2.0 0.3 0.1 99.6 100.0
S 97.6 2.2 0.2 99.8 100.0 97.5 1.6 0.3 0.3 0.3 99.1 99.4 /96.3 3.1 0.6 99.4 100.0 98.5 1.5 100.0 100.0
B 96.7 2.5 0.8 99.2 100.0 | 91.1 8.1 0.8 99.2 100.0 96.1 3.9 100.0 100.0 | 91.0 9.0 100.0100.0
B 97.2 25 0.2 0.1 0.0 0.0 99.6 1000 96.5 29 0.3 0.2 0.1 0.0 994 999|973 23 0.2 0.1 0.0 0.0 99.6 99.9 197.7 1.8 0.3 0.1 0.0 99.5 100.0
20224 %% 98.2 1.5 0.1 0.1 0.0 99.7 100.0 |97.4 2.2 0.2 0.2 99.7 100.0 197.2 2.3 0.3 0.1 0.0 0.1 995 99.9 979 19 0.1 0.1 0.0 99.8 100.0
20214E %A 98.2 1.5 0.1 0.1 0.0 0.0 99.7 100.0/98.0 1.6 0.1 0.2 0.0 0.0 99.6 99.9 97.7 1.8 0.3 0.2 99.5 100.0 97.8 1.7 0.2 0.3 99.5 100.0
X5y ¥ (4HA~3AH)
<14 —3.4 —5.4 —10.4—20.420.5= <3.4 <10.4
Hu[xX (% %)
% % % % % % % %
pavss 97.5 2.2 0.3 0.0 99.7 100.0
7550 97.9 2.1 100.0 100.0
EJn 96.2 2.9 0.5 0.4 0.0 99.2 100.0
%k 99.1 0.9 100.0  100.0
Fer il 99.6 0.4 100.0 100.0
R 978 1.9 0.1 0.2 99.7 100.0
JilEE7= 98.4 1.3 0.3 0.0 99.7 100.0
HE 98.6 1.0 0.2 0.1 99.7 100.0
+ 97.3 2.2 0.3 0.2 0.0 0.0 99.6 100.0
B[S 96.3 3.1 04 0.1 0.1 0.0 99.4 99.9
R 96.5 3.0 0.3 0.2 0.0 0.0 99.5 100.0
WE 97.2 23 02 0.2 0.1 0.0 99.5 99.9
S 97.3 2.1 0.3 0.1 0.1 0.0 99.5 99.9
BEHA 93.8 5.6 0.3 0.1 0.2 99.5 99.8
B 96.9 2.6 0.3 0.2 0.0 0.0 99.5 99.9
20224FFEFER 97.2 2.3 0.3 0.2 0.0 0.0 99.5 100.0
20214E %A 976 1.9 0.2 0.2 0.0 0.0 99.5 100.0




